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a b c
If |[{ m n| =2 then whatis the value
P q r
“léa 3b 15¢
of the determinan!; 92 m Bn|?
2p g &r
(a) 10
(b) 20
(c) 40
(d) 60

Let X be the set of all graduates in India.
Elements x and y in X are said to be related if
they are graduates of the same university.
Which one of the following statements is
correct 7

(a) Relation is symmetric and transitive
only. '

(b) Relation is reflexive and transitive only,

(e} Relation is reflexive and symmetric
only.

(d) Relation is reflexive, symmetric and
transitive.

If « + yz. = 1, then what is M

; l+x—iy

equal to ?

(a) x-iy

(b) x + iy

(e) 2x

(d) -2iy

Consider the following statements ;

€3

25
1. TFor any three vectors a , b

2. B +TIX(Z +D + =0
2.  For any three coplanar unit vectors
3 e = .
d,e, f:(d xe).f =1
Which of the statements given above is/are
correct 7
fa} 1 only
(b} 2 only
{e) Both 1 and 2
{d) Neither 1 nor 2

Directions : For the next 3 (three) guestions to
follow : , .

7.

(2-A)

Consider the following lists :

Each item under List I is associated with one
or more items under List IT,

List I List IT
(Function) (Property)
A, sinx 1. Periodic function
B. cosx 2. Non-periodie funetion

C. tanx 3. Continuous at every point

onN (= e, o)
4. Discontinuous function

Differentiable at
point on (— e, =)

6. Not differentiable at every
point on (= s, o)

every

7. has period n

| 8. has period 2n
9. increases on (0, n/2)
10. decreases on (0, n/2)
11. increases on (n/2, )

12. decreases on (nf2, n)

A is associated with

(a) 1,38,5,8,9, 12
(b} 2, 4,6, 8, 10, 11
() 1,3,6, 7, 10, 11
(d) None of the above

B is associated with
(a) 2,8,5,.8, 9, 12
(b} 1, 3,5, 8, 10, 12
(¢) 1,3,5,8,9, 12

(d) None of the above
Cis aésuciated with

(a) 1,4,6,7 9 11
(b} 2,4,6 8 9

() 1,4,6,7,9
(d}) None of the above .
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p q T

6a 3b 15e!

R |20 m 50| wmEmEnE?
2p q or

(a) 10

(b) 20

(e) 40

(d) @0

7 e f5 ara f w Eel @ wEa X E
X & Wew x 3R y wrafoa o s £ afz 3 =i
frafiraem @ was & | Foafofes 4 3 sl @
U A © 7

(a) = Haa THET HR TS |

(b) W &aE aged iR WEEE # |

(¢) Wraer Hae waqed iR wwita 2 |

(d) WvawT Wqed, SHHd SR GEEE # |

ofg x2+y2=1. a s A FE ?

1 —%
{a) x~1iy e
(b) x +iy
- {e) 2x
(d) -2iy
. 1
. PrefEfas o w e @i

1 AT wRe A, b, C BRw:
2 .Ub +c)x(a +b +2)H=0
2. e AW wmaea TEe wRel
c_i’,E',? SRe:(d xe). T =1
RffEa s A s R w8 ?

(a) wad 1

" (b)  FEw 2

(c) 13k 2aF

(@ AdM1ARAH2

(3-A)

Bder - s 3 () wo & B -

et 13 o g vl weAtwr gt 11 & v weAre
a1 tEIfts weAi & gatea € |
w1 et 11
() ©
A, sinx 1. 3adl Ber
B. cosx 2. Gl Be
C. tanx 3. (= oo, o) F YOG g W HAA
4, 3ETT G
5.

(oo, =) & AOF fag W

awaAa :

6. (—eo, =) & 7@ fog W
EHAT L

7. H&d® n el e

8, 3MEH® 2n 9N &

9. (0,n/2) W A 8
10. (0, n/2) 9= @A &
11. (7/2, m}) W g
12. (n/2, n) O ERHE &

Afrfe Aaafam g ?
(a) 1,38,5,89 12

(b) 2, 4,86,8, 10,11

() 1,3, 5 7,10, 11

(d) FoRfeRaa & ¥ o 78
B f5u/fee & wafem & 2
(a) 2,358,912

M 1,305,810, 12

(¢) 1,358,912

(d) FoRffEa 4 3 2 T8

C fu/fea & safag & 2
fa) 1,4,6,7,9 11

(b) 2,4,6,8,9

(e} 1,4,6,7,9

(d) 3ufifafEa 4 3 &8 38




If p and g are positive integers, then which

8.
one of the following equatmnﬂ has p ~ ﬁ as
one of its roots ?
() x*-2px-(p?-q) =0
(b) x*~2px+(p’-q) =0
{c) x2+2px-(p2—q]=ﬂ
(d x*+2px+(p*>-q =0

9. Given twu squares of sides x and y such that
¥ = X + x°. What is the rate of change of area
of the second square with respect to the area
of the first square ?
(a) 1+ 3x+ 2x2
(b) 1+ 2x+ 3x*
(€) 1-2x+ 3x°
() 1-2x-3x?

10. The planes’ px + 2y + 22 -3 =0 and
2x =y + 2 + 2 =0 intersect at an angle
n/4. What is the value of p? ?
(a) 24 '
(b) 12
c) 6
(dy 3

11. The growth of a quantity N(t) at any
. oz i dN(t) ;
instant t is given by i re Nit). Given
that N(t) = ¢ is a constant. What is
the value of o ?
(a) ¢
{(b) k
(c) ec+k
(@ c-k

' Q-OEBA-K-NBU

12,

13.

14.

15.

(4-A)

LY

A circle is drawn_ with the two foci of an
xe y.‘Z
s 3
a b

diameter. What is the equation to the circle ?

ellipse =1 at the end

(8) x®+y2=a%+b?

0 PP et

(@0 x*+y?=2(a2+1bd
(d) x2+y?=2(%_bp%

What is the image of the point (1, 2) an the
line 3x+4y—-1=0 ?

(a) [_3, —E]
5 5

(@) (_3, i)
5 3

If the product of the roots of the equation
2 _Bx+ k=15 is -3, then what iz the
value of k 7

(a) 12
(b} 15 J
{c) 16
(d} 18

Consider the following statements ;
1.  Every function has a primitive.
2. A primitive of a function is unique.

Which of the statements given above ig/are
correct ? ;

(a)
(bl 2 only

(c) Both1and2
{(d) Neither 1 nor 2

1 only

of the

@




: #

8. aRk p 3R q e s ¥, @ Pt
il % I e om H@ p- Ja B2
; (a) x*—2px—(p*-q)=0
(b) x®-2px +(p?-q)=0
(6) 2 +2x—-(p>-q)=0
(d) x2+ﬂpx+(p2-—q}=ﬁ
9 dRymi xRk yaord ofgumer € &
y=x+xz,?ﬁﬁﬂﬁﬂimﬁﬁﬂﬁ7{ﬂﬁﬁ
UEe 91 & SE%H § AN @@ g ?
(a) 1+ 3%+ 2x%
(b) 1+ 2x+ 3x%
(e) 1-2x+ 3x
(d)’ 1—2x— 3x%
Ay
1{].. THad px+2y+22-3=0 3R
X~y +2+2=0 & VB 1/4 2 |
prE EE #
(a) 24
(b) 12
(e) 6
(d) 3
1. fﬁsﬁmtwmmnﬁq‘%ﬂ?mmm
gudigdd | oz R gan 2 6 N(b) = ceMt, Il ¢
EHRE MaTAFTAE ? '
(a) ¢
b}y k
e} c+k
(d) c-k
Q-0EBA-K-NBU

13.

14,

15.

{5 -A)

ffﬂ?ﬁxz yz a?[ i 5
a—2+~b—2—=1 a1 AT @ & &
3 g Ao v g S mar @ | g @ Wi

TR ?

(@) x®+y?=a%+b?
b x2+y?=a%-1b?
() %4 }r?‘ =2(a? + b9
(@ x%+y®=2(%-b?

i@ﬁx+4y~1.=ﬂﬂﬁﬁf1.2}ﬁﬁﬁﬂﬁ?

(a) [-3,-5]
5" 5

® (I, l)-
8’ 2
,

© 3,_1)
C
f

@ X l)
"5 2

gie wiERoT x? - 5x + k = 15 & A @l

TAST -3 A k@ uaFnE?

{a) 12
(b} 15
(c) 16
(d) 18

FrafafEa s w far @i -

1. ¥R e O U O # |

2. f&8 wem & gdn e B @
RitfEn s A s TR SR 878 2
(a) a1

(b) waw 2

() 13k 2aH

(d sdrlaRAET2




16. If A={a, b, dl, then what is the number of | 19.
proper subsets of A ?
(a) 16
(b) 15
(e) 14
(d) 12
17. What is the number of three-digit odd
numbers formed by using the digits 1, 2, 3, 4,
8, 6 if repetition of digits is allowed 7
(a) 860
20.
(b) 108
(c) 120
(d) 216
5 6 1
18. Let A = . Let there exist a
2 -1 5
35 49
matrix B such that AB = . What is
2g 13
B equal to 7 21.
(6 1 4)
(a)
\2 6 3
(2 6 3)
(b} ;
5 1 4
23.
(6 2)
(e) 1 6
4 3
F2 5'\
(d)
\3 4)
Q-0EBA-K-NBU {6 - A)

Consider the following statements

1. The probability that there are 53 Sundays
in a leap year is twice the probability that
there are 53 Sundays in a non-leap year.

2. The probability that there are 5 Mondays
in the month of March is thrice the
probability that there are 5 Mondays in the
month of Apnl.

Which of the statements given above is/are
correct ?

{a) 1 only

(b) 2only

{c) Both 1 and 2
(d) Neither 1 nor 2

Consider the following statements :
1-If A" = A, then A is a singular matrix,
where A’ is the transpose of A,

2. If A is a square matrix such that A’ = 1,
then A is non-singular, '

Which of the statements given above is/are
correct ?

(a) 1 only

(b) 2 only

{c) Bothl1and?2
(d) Neither 1 nor 2

If p times the p™ term of an AP is q times
the g*' term, thén what is the (p + P

" term  equal to ?

(a) p+q
(b) pq

e} 1

(d) 0

A team of 8 players is to be chosen from a
group of 12 players. Out of the eight players
one is to be elected as eaptain and another as
vice-captain. In how many ways can this be
done ?

{a) 27720
{b} 13860
(e} 6930

(d)y 495




"16. aR A=la, b, ¢ dl, o AS @ IwETE B

: 19.
HE T g ?
(a) 16
(by 15
(c) 14
(d) 12
17. @ st aren faum v 3@t 1, 2, 3, 4, 5, 6 &
3 s e S € | aft sieh an geve whga
2 o oy v et € 2
(a) 60
' 20,
(b) 108
(e} 120
(d) 216
: 5 6 1
18. Hﬁﬁrﬁvﬁsﬂ=[2 . EJSﬂTWEﬁﬁl‘E
. 35 49
for vas sgg B b @ 16 AB = L
® . [29 13]
B w7
21.
@ 5 1 4
¥ la 6 3
(2 6 3
(b) ]
15 1 4
22,
(5 2
(c) 6
'~4 3
2 5
d |6 1
3 4
Q-0EBA-K-NBU (7 -A)

Fr=fafas s+ | R difee -

1. [ o ad § 53 WaER B o witear o
IR-efig af % 53 Yfaar 2 & witwa & g
2l

- 2. A w5 WmER 2 @ it ate wEn

¥ 5 drar 3 & wftwer & fpr @ 1

wiRfefaa # § o oD ous wd &F
(a) @ae 1

(b) aet 2

(c) 13k 22

(d) Far13ik=82

Prafofea suai w faer Sifse

1. d% A’ = A, o A UG eIV AEE &,
e A’ & A & oRad |

2. TRAFE Ty m R E B A=,
Al A B § |

SR i3 o TS ouT @ & 2

(a) wad 1

(b) thaet 2

(c) 13R 2z

(d) A l13kaa2

ot &l TmmR A @ pd 9w @ p T IES qd
U2 & q A1 &, @ (p + )dl 02 forms e @ 2
(a} p+gq

(b} pg

(e) 1

{d) 0

12 famfzdl & e o 3 8 faakal & s
& g A # | 3 oo Rewfsdl A ¥ @
FEE AR R @ TR g A R | U
fhem v & fun s wEa ¢ 2

(a) 27720

(b) 13860

(¢) 6930

(d) 495




23,

In tossing three coins at a time, what is the
probability of getting at most one head ?

3
(a) 7
7
b =2
(b) 8
1
(e} E
1
(dy =
(d) 3
24. What is the sum of -the cne{ﬁmenl.s of all the
terms in the expansion of (45x — 49)* ?
(a) -266
(b) -100
(e} 100
(d) 256
25. Two balls are selected from a box containing
2 blue and 7 red balls. What is the probability
that at least one ball is blue ?
2
{a) E
7
)
(b) 9
il
N
%l
T -
(d) 15
26. If the equation x2 — bx + 1 = 0 does not
possess real roots, then whlch one of the
following is correct 7
[8) — E <b<3
b)) =2<b<?
(¢} b>2
@ b<-2
Q-OEBA-K-NBU

217.

28.

29,

30,

{8-A)

_ (c)

The probability of guessing a correct answer‘is

%. If the probability of not guessing the

: o i :
correct answer is 3 then what is x equal to ?

{a)
(b)

o e L b2

(d)

If the system of equations 2x + 3y = 7 and
Z2ax + (@ + b)y = 28 has infinitely many

solutions, then which one of the following is

correct ?

fa) a=2b
(b) b=2a
fe) a=-=2b
(d) b=-2a

If p and g are the roots of the equation
2 _px +q =0, then what aré the values
of p and q respectively ?

(a) 1,0
(b 0,1
(¢ -2,0
(@ -2,1

Consider the following statements related to a
variable X having a hlnnmlal distribution

by(n, p) :

1. If p=%, then the distribution is

symmetrical,

2.  p remaining constant, P(X = r) increases
as n increases,

Which of the statements given above isfare
correct ?

{a) 1 only

" (b) 2only

{c} Both 1 and 2
{d} Neither 1 nor 2




T 23,

24.

26.

26.

Q-OEBA-K-NEBU

f{a)] —3<b<id

mmﬁ%ﬁﬁmﬁﬂmﬁa#mﬁmm 27.
oI Wi B o wited T & 7

(a)
(b)
{c)

(d)

ool pal= Sol=1 ol

(45x — 49)* & TR # Wi & & e @
dne @ & 2 28.

(a) —256

(b) -100

(¢} 100

(d) 256

U6 A5 i 2 e sk 7 ene 0 # By @ R

T SN E | gHD T miwa & 5 o300 U |99,
iz Al @y 2

(a) *
(b)

(c)
30.

Bl= Blo @l ol

(d)

oft wiew x2-bx +1=0 ﬂi-mﬁﬁa‘iﬁﬂ
Hﬁﬁ,?hﬁm%ﬁiaﬁﬁaﬁ:{w_n“ﬁé‘r?P

(b —-2<h<?
) b>2
(d) be<-2

(9-A)

ﬁﬂﬂmwmaﬂ#ﬁm B %’Iuﬁ

Hﬁmaﬂmqmaﬁ‘rm = é,a‘lxa’n

TAFE ?

(a)
(b)
(e)
(d)

o, W= 3 b3

oR e B x4+ 3y =7 AW

2ax + (a + D)y =28 & 39 &a & @
g da s o & ?

(a) a=2b

(b) b=2a

(e} a=-2b

(d) b=-2a

afg wim X -px+q=0 ﬂiﬁpf‘lﬂ?q'g._ﬁ’l
p 3% q & = e T g ?

(a) 1,0

®) 0,1

() -=2,0

d) -2, 1

fam @& byn, p) @ W X F wwiem
Fr=feiaa sl ) far it -

i, uﬁpzl.fﬁmmﬁa%[

2. paERE, ?hP{xﬂr}aﬁqm%aanaﬁm:r
gl

mﬁﬁ\ﬁaamq‘iﬁéaﬂqwﬁﬂﬁ"éﬁ?

(a) a1

(b) @aw 2

(¢ 13k 2&H

(d) Far1sikade




31.

32.

33,

34.

Q-OCEBA-K-NBU

What is the number of ways of arranging
the letters of the word 'BANANA' so that
no two N's appear together ?

(a) 40
(by 60
{c) 80
(d) 100

Consider the equation (x - p){x -6} + 1 =0
having integral coefficients. Il the eguation
has integral roots, then what values can’p
have ?

(a) 4or8
(b) 5or10
(e} Borl2
(d}) 3or6

What is the equivalent binary number of
the decimal number 13-825 ?

(8) 1101-111
(b) 1111:101
(¢} -1101-101
(d) 1111111

What is the value of
(58T (T
—i+y3 i+3 '
(a3 -1
by 0
(e 1

dy 2

35.

36,

37.

38.

{10- A}

The order of a set A is 3 and that of a set

B is 2. What is the number of relations
from Ato B ?
{a) 4
by 6
(e} 32
(d) 64
log — (H)
What is the value of % ?
474 Jabr )
{a) lugﬂa (o)
(b) lugqm, ()

{e) ]“gan (ezfiy)

(d) Iﬂguﬂ (B}

The 59 term of an AP is 449 and the
449" term is 59. Which term is equal to
D (zero) ? :

(a) 501 term
(b) 502" term
(c) 508 term

(d)y 509" term

For a set A, consider the following statements :
1 A U P(A) = P(A)

2 JAINPAY=A

3. P(A) - (Al = P(A)

where P denotes power set.

Which of the statements given above is/are
cofrect 7

{a) 1 only
(b) 2 only

{e) 3 only

(d) 1,2and 3




31.

32.

33.

34.

0-0OEBA-K-NBU

= BANANA' ¥ 3erl &) 29 Wer gaifsm &

 F oA Nvs g A, e adG E ?

(a) 40
(b} 60
(c) 80

(d). 100

E“ﬂﬁﬁﬂﬁﬂﬁmﬁﬁﬁw.tx—p}{x—annu

w frar e | af wlie & g s & @ p
&I WIF o1 B o § 7

(a) 4 35T 8
(b)Y 5 3raE 10
el & 3ear 12

(d) 3 3w 6

. quEE W 13-625 @ wqed fg-anurd e

TR ?

(a) 1101-111
(b) 1111101
(¢) 1101:101
(d) + 1111:111

HE 2un+ i—-ﬁ__?m+ :
-1 ++/3 ol i+4/3

T AATME ?

(a) -1
(b} O
{cj} 1 .

d 2

35.

37.

38.

{11 - A}

ey A® VA9 32 &R Eﬂiﬂﬂ?ﬂﬂﬁa‘ﬂr

2% A'@IBHESWH%WW%?

(a) 4
(b} ®
e} 32
(d) 64

log H—KH}

7’
55 o HE FTR 7

1
% Jamy
(a) lnguﬂ fee)

(b)  log,q, (aB)

(c) lug&“ (eefiy)

(d)  log,q (P)

ﬁﬂ%ﬂwﬁaﬂﬁgmuaﬂﬁéaﬂ?ﬁgﬁﬁ
59baa§1:!muamaﬁ'n%?

(a) 50141 72
(b) 50247 92
(¢) 508d1 &

(dy 509al 9&

e weg A ¥ f, Frefifea owl = fER
Hifaw : -
1. A UPQA) =PA)

2. JAINPA) s
3. P(A) - 1A} = P(A)

3l P 3 R 9 W |

R wo % o A wd Y

{a) TEA1

(b) e 2 .
(c) dbae 3

(@ 1,23R3




If the AM and HM of two numbers are 27 and 43.

.39.
12 respectively, then what is their GM equal
to 7 '
(a) 12
(b) 18
) 24
(d) 27
' 1 1 .
40. If tan A= - and tan B= =, then what is
2 3 44,
the value of (A + B) ?
(a) 0
n
b) —
{ 4
T
(¢} -E-'._
(d}) =
41. 1If (4, 0) and (- 4, 0) are the foci of an ellipse
and the semi-minor axis is 3, then the ellipse 45
passes through which one of the following| -
points ?
(a) (2, 0)
(b) (0, 5)
{e) (0, 0)
(d) (5, 0)
42. Under what condition do the planes
bx —ay =n, ey —-bz=1I, az —ex = m
intersect in a line ?
(a) a+bte=0
b)) a=b=c
(e) al+bm+en=20
(d l+m+n=0
Q-0EBA-K-NBU | 12 = A )

What is the maximum point on the curve

x=e"y?

(a) (1,e)
(b) (1, e
{e) (e 1)
F
(d) (e, 1)

The function fix)=e*, xeR is
(a) Onto but nol one-one
(b} One-pne onto

(c) ‘Dni:-une but not onto

{d} Neither ane-one nor onto

i ody
If y =sin™] , then what is — equal
? {]-1‘-41{2] dx .
to ?
(a) 2
1+ 4x?
(b) —- y 5
1+4x
4
(e) -
1+ 4x?
ik
(d) s
1+4dx




39.

40,

41.

42.

Q-0OEBA-K-NBU

afz 21 dEni & e W 3N 'S A
Faer 27 31K 12 &, & e iR W w9 ¢ ?

(a) 12
(b) 18
(e} 24

(d) 27

afe tanﬂ-% #HiT t,:a-mlat—E @ (A + B)

T OSFTE ?

(a) O
T
(b} 1
T
(c) E
(d) =

ofe e dfgm @ fid (4, 0) @ (-4, 0) ¥
R ey e 3 &, O Poeferad fegel # ¥
e andge TeRen ® ?

{a) (2,0)
(b) (0, 5)
© (0,0
() (5 0)

ﬁﬁﬂﬁlﬂﬁﬂ%ﬁﬂﬁﬁbx—a}'—n cy — bz—;!
az-cx=m DS t@ AW & ?

(a) a+b+c=0
4 s=bue
(@) al+bm+en=0

(di l+m+n=20

44,

{13 = A )

% x=e'y mdfas Mg T e ?
(a) (1, e}

b e
(c) (e, 1)

(d) (e, 1)

W f{x}'=.c", xeR
(a) 3MOED § W wHDH TR
(b) Ub DTS &
(c) uhar @ g ameoes Fé

(d) =@ vhd g IR A 8 IEEE

afg 'y = sin™ (—] ﬂ"l Y mwm g e
1+ 4x°

- 1+4x*

B = l-rr];rx2

o 1 +‘jix2 )
e 1 +‘1::l{2




' 46.  What is the value of ) for which the vectors |50, What is the derivative of

A A A A A A

A, A A !
=3 Ry 20 %] ~uky A S wdk xq‘aﬂ—xz +a25in‘1[iJ ?

are coplanar ? a
{_“]' 1 (a) a%-x?

(b) 2

(e} 3

@ () xE > a'.'! '

(d) 24x%-a?

47.  What is the equation of the plane through
z-axis and parallel to the line
x-1 y+2 2-3 o ol. If (-5, 4) divides the line segment between
cos® sin®@ 0 the coordinate axes in the ratio 1 : 2, then
what is its equation ?

(a) xcotB +y=0

(b) xtanB-y=0 . {a) Bx+5y+20=0
(¢) x+ycotB=0 (b) Bx+8 -7=0
(d) x—ytanB=0 ; () Bx -5y +60=0
48. If the lines Jy+4x =1 y=x+5 and (d) 5x-8y+57=0
Sy + bx = 3 are concurrent, then what is '
the value of b ? 62. What is the value of
(a) 1 ‘ cos 15°  sin 15° cos 45°  cos 15°
x 7
(b) 3 | cos 45°  sin 45° sin45°  sin 15°
e} 6 y
(a)] =
(d) 0 4
49.  What is the least value of (b) %
f(x) = 2x3 — 3x®> -~ 12x + 1 on [-2, 2:5] ?
(a) -3 1 ;
(b) 8 el g
) -19 '
(d) -165 (dy — 3
. 4

Q-OEBA-K-NBU {14 - A )




46.

47,

48,

49,

Q-OEBA-K-NEU

A li\.ﬂ
i -]+ k,

A @1 T @ & P e e
2f + 5 —%, Al -j +2k g d?
{a) 1 :

by 2

{e) 8

(dy 4

x-1 _ y.-pz _%-3 'éﬁ —
cos @ sin@ 0

238 W ERA A YHael & R0 &= @ ?

fa) xcolB +y=0

(b) xtanB-y=0
e} x+ycotb=0

fd} x=ytanB =10

Iﬂ%iﬁﬁ 3}"+4){:1. }«’=K+5 3ﬂ:t
Gy +bx=3 W&, A b AT FAE 2

(a) 1
by 3
fc) 6
(d) 0

[-2, 25] R fix)=2x3 - 3x®> - 12x + 1 &
AT I Fa g ?

(a) -3

(b) 8

(e} -19
- 165

(d)

{15 - A )

a0.

5l.

52.

afe el & g & @S @ (- 5, 4), I
1:2 W fowlse swan 2, @ s9er wiewor @
g7

fa) Bx+b5y+20=0

(b) Bx+8y—-T=0
¢) Bx-5Hy+60=10 -

fd) 5x-8y+57=0

cos 15°
| ;

'| cos 45°

sin 15° cos 45° cos 15°

A Gl

sin 457 gsin 45° sin 15°

qS # g ?

':H} E

3
b ..
(b) 2

fc). -

e | =
L

(d) -

# | o




53.

54,

B5b.

56,

Q-OEBA-K-NBU

‘det (AA) = A det (A),

Out of 32 persons, 30 invest in National

Savings Certificates and 17 invest in shares.

What is the number of persons who invest in
both ?

(a) 13
(b) 15
(e} 17
(d) 19

What are the equations of the directrices of
the ellipse 25x% + 16y2 = 400 ?

(a) 3x+25=0
(b) 3y+25=0
60 x+15=0
(d y+25=0

Let A be an n ¥ n matrix. If
what. is the value of

57

(a) O
k) 1
e} =1
d) m

2 2

Let E be the ellipse % + FT =1 and C be

the circle x2 + y°=9, Let P=(1,2) and
@ = (2, 1). Which one of the following is.
correct 7

{a) Q lies inside C but outside E

(b} @ lies outside both C and E
(c) P lies inside both C and E-

@ P Les inside C but outside B

57.

58.

59.

60.

| 16 = A )

What is the geometric interpretation of the
identity (2 — b)x(a + b)=2(a xb)?
1.  If the diagonals of a given parallelogram
are used as sides of a° second
parallelogram, then the area of the

second parallelogram is twice that of the
given parallelogram,

2. If the semi-diagonals of a given
parallelogram are used as sides of a
second parallelogram, then the area of
the second parallelogram is half that of
the given parallelogram.

Select the correct, answer using the code given_
below

(a)
(b} 2 only
(e} Both 1and 2

1 only

{d) Neither 1 nor 2
. w2 .3
What is J e dx 2
sin® x + cos® x
(1]

(a) = -

%
by =
(b} 5

x
{"_-'} E
dy 0
The funection fix) = from Rto R is

2

x“+1
{a) One-one as well as onto
(b} Onto but not one-one
{c) Neither one-one nor onto
{dY One-one but not onto '

If A be'a real skew-symmetric matrix of order
n such that A? + I.= 0, I being the identity
matrix of the same urder as that of A, then
what is the order of A 7

{a) 3

(b) Odd

_I[::} Prime number

(d) Ew_.rcu




Q-OEBA-K-NBU

32 fepdl & 9 30 8 € S W FEE yEor-aE

S i o & ok 17 00 € o A A 1 0
afemdl @ e @ & 3 @ e ea § 2
(a) 13
(b) 15
(e} 17
(d) 19
54, @Ega  25x2 + 16y* = 400 B Franpid &
R T ?
(a)' 3x+25=0
(b) 3y+25=0
(c) x+156=0
(d) y+26=0
66. WM A, ABE nxn g @ | AR
det (LA) = A® det (A), @ 5 T AF T & ?
(a) O
(b) 1
(e} =1
(d) n
56. me?r%mE%aﬂaT-r§+§=13ﬂ¥c%
T 2+y2=9 AAMBE P=(,2 IR
Q=21 Ffffmmiasm o w2
(a) QB C® Wi foog E & ey
() Q# C3REJ ¥
{c) P%Ceﬂtﬁaﬁvﬁ-aszﬂm
(d) P2 C% MR fog E & N

(17 - A )

57.

58.

G0.

whefiE (3 - b)) x(3 + b)=2(2 x b)

&1 SAHarg areqd T g ?

1. aft i e e weeeR agiE & faov o1 e
@immagﬂjaﬁgamﬁasmﬁ%
fovar Fme, A R AR aqys T e
T WA AT B BT o T 8 |

2. afk iRl Re 1wk ags & avd-fwol &1

B GER AR 9t &1 Yl & T A g
T?ﬁmzrm! Al g TR agya & Sk feu
e WAR OgYSt & B o ST 6 |

r fer e g @ Wt o) W IR g
(a) a1

(b) had 2

(c) 13R 2

() A 13RTH2

n/2

J_ sin® x
| sin® x + cos® x

0

dx FmE?

(a)

H

(b)

(c)

e |d w2 H

(dy 0O
R Ra® e fix) =

%2 +1

(a) Uhal Tur FwES 2

(b) ameEEs ¥ g uhd T

(¢) 771 ubd & 3k 7€ smoEs
(d) uhHr @ fo] aTeERsd &

ot A @ @ n & aaRe Rer-wmtE aregg
R 6 A2 + 1 =0, 761 1 3 @It &
mmqa#ﬁmaﬂﬁrasmmﬁa?rﬁ%m
i

{a) 3

(b) fawm

(c) 3THTST &M

(d) =9




Directions : For the next 3 (three) questions to |64, What is the sum of all natural numbers

follow : ' between 200 and 400 which are divisible by
The table below gives an incomplete frequency 77 :
_ distribution with two missing frequencies fy (a) 6729
End fz- :
! . (b) 8712
Value of X Frequency (c) 8729 -
o N (d) 9276
1 fy 65. The mean and variance of a binomial
distribution are 8 and 4 respectively, What is
2 ] 4 P(X = 1) equal to ?
3 ' 4 '
. (@) —=
4 q 212
. ; . I i s b 1
The total frequency is 18 and the arithmetice (b) 2—3
mean of X is 2,
61. 'What is the value of f, ? {c) LS
. 2
(a) 4 ; .
(b). 3 ; (d) _J];_
© 2 2
(d -1

66. What is j e * gin x dx equal to ?

© 62. What is the standard deviation ? ; ,
’ (a) " *(sinx—cos x)+ ¢

9
(a) %— (b} (sinx-xcosx)+c¢c
(¢) {xsinx+cosx)+c
J5 K o)
(b) = (d) (sin x+ x cos x) + ¢
_ 4 . where c is a constant of integration..
() = . . :
3 " 67. An observed event B can occur after one of
Sl 16 ' the three events A, A, Ay If
N 9 P(A) = P(Ay) = 044, P(A) = 0:2 and
63. Wbat is the coefficient of variance 7 ) ' P(B | A) = 025 PB | A,) = 04, '
(a) Zgﬂ P(B|A;) = 0-125, what is the probability of
A, after observing B 7
. (b) 5—”9‘;—5 (a)  1/3 3
b} 6/19
(c) 800 ' , :
T _ ; (©) 2057

(d 150 : @ 2/5

Q-OEBA-K-NBU , {18 - A}




B¥er : s 3 () 9 & fw

e &t wroit F oe ol aRaRa deq fear @ o

2 aREran f, 3R £, s & |
X & 9 ARERA

0 f,

1 f,

2 4

3 4

4 3

T arara 18 8 3k X &1 guieR wem 2 2 |

61, f,FATTIE ?
(@) 4
(b) 3
(e} 2
(@ 1

62. WG faemame?

{a) E
2
(b {5_
3
(c) %
16
(d) ry

(c)

(d) 150

Q-0OEBA-K-NBU

65.

67.

{ 19 - A}

200 31X 400 & @@ @ 7 J fawem Wl oA
(Vi) TEEt &1 dnTee a1 § 2

(a) 6729
(b) - B712
(e} B729
(d) 9276

ol Gue deT S A sk o e 83k 4 2 |
PX=1)@ A ams?

(a) 2%
(b) EIE
© Eiﬁ
(d) 21,,

je‘r’“‘sinxdx B HH TR ?
(a) e *(sinx—cosx)+c
(b) (sinx=-xcosx)+c
{¢) (xsinx+ecosx)+c
(d} (sinx +xcosx)+c

FEl ¢ UF FHIEEE-3ET 2 |

@9 weasli A, A, A, & uwd ww M
e B we W&t @ | Al P(A)) = P(A,) = 04,
P(A,) =0-2 @ PB|A) =025

P(B|A,) = 04, P(B|Ay) = 0-125,d1 B & Hew
% A= A, = Wiear 71 & ?

(a) 1/3 | ¥

(b) 6/19

(c) 20/57

@ 25




i

4,
68. Whatis J'.x21 1 dx equalto?
x°+1
3
(a) E-a-wx+4tan_l-x+c
x'ﬂ- 7 1
" (b) ?+x+4tan'x+:
% 1
(c) ?—x+2tan_x+c
3
(d) ?—x—4tan_1x+c
where ¢ is a constant of integration.
6 x4 4
69, What is the value of lim [" } ?
. Xx—re L X+] )
(a) e
(b) e?
() ot
(d) &°
70. What is the area of the tnangle with vertices
(0,2,2), (2,0,-1) and (3,4,0)?
{a) 15/2 square units
(b} 15 square units
(c) 7/2 square units
{d) 7 square units
1
71. If is one of the roots of
2 1"“2
ax® + bx + ¢ = D where a, b, ¢ are real, then
what are the values of a, b, ¢ respectively ?
{al* B, —4,- 1
(b) 4,6 -1
c) 3, -2 1
(d) 6, 4, 1
Q-0EBA-K-MBU

72,

13.

T4.

75,

(20 - A )

Ir mw
X =0
X° + dx + 77

2

(a) -2
(b) --1
e 0O
(d)y 1
IT cos x # -1, then what is L
1+ cosx
equal to ?
X
— oot =
(a) co 5
x
b t —
{b) eo 5
X
tan —
(el an 5
- X
—tan.=
(d) an 3

The angle of elevation of the tip of a flag post
from a point 5 m away {rom its base is 75°
What is the approximate height of the flag

post 7 ——
(a) 15m
(b) 17 m
() 19m
(d) 21m

If A = P, EIj where P denotes the
power set, then which one of the following
15 correct 7

(a) 11,21 c A

(b) 1eA
() peA
(d) (1,2 A

is a complex cube root of unity and’
- ® — 2, then what is the value of




S
68, - J-H;l dx HIHRFATTE ? 72. Uf% @ & vH W TE o § 3K
. d x04l x=wl-n-2 & A x4ax+7 WA
g ' g2 :
{a} fé— —x+ 4 ian_“ X+ {u} - 2 .
3 o () -1
(b} ~x—+x+4tan_lx+c
" 3 . (cd O
a (d) 1
(c) x?—x+2tan'_lx+c ’
: 73. off cosx = -1, & 15"”" T HE TR ?
x +
(d) L—-x_—dt.a'n_"x+c - Eieh
3 .
- (a) —cot —
@l ¢ U SHEeT-HE B | 2
(b) cnl..i
Ex+4 . 2 .
69 lim [“ ] 1A TR ? o
x=e \x+1 () tan 3
o I . (d) —I:an-:-i
(b) e _ 2
(e) et . ' ; '
s 58 74. 58 m@o-ave & BR & FAgH DO THG AR T
E-\J‘

) _ 5mgl Wes fag § 75° 81 wEaE @
70. 9t (0, 2, 2), (2, 0,-1) 3R (3, 4, 0) awt By GUEECE e

o EEA T R ?
: . (a}) 16 m
(a) 15/2 o To18 p 17
' m
(b) 15 af s

(d) '?Elﬁsiﬁlé # {d} 21 m

1 .
71. R axl+bx+c=0 B W z J_E_éqf._ aR A = P((1, 2)) 5@ P U\ wqw=g @ dfta

Fgaie il dashaw@e?
- @l a, b, c TAES &, ﬁ[,a,h,uﬂiﬂﬁm

@ g ? fa) 11,21 CA
(a) .6, —4, 1 . (b) 1eA
{b) ' 4, 6, -1 @ pik

{E:I 3! _21- ].

{d). 6, 4, 1 {d) {1,2)e A

Q-OEBA-K-NBU - 121 -A)




T6.

Tt

T8.

79.

Q-OEBA-K-NBU

The geometric mean of three numbers was
computed as 6. It was subsequently found
that, in this computation, a number & was
wrongly read as 12. What is the correct
geometric mean ?
(a) 4,
(b) 33
(€ 2¥18
(d) None of the above
1 2 : :
Let A= = [ag], wherei, j=1,2 If
3 4 J
its inverse matrix is [biJ]' what is by, ?
(a) -2
(b) 1
3
e) =
¢ 2
I
{di --=
(d) 5
The angle A lies in the third quadrant and it
satisfies the equation 4 (sin? x + cos x) = 1,
What is the measure of the angle A ?
) ¢
(a) 225°
(b))  240°
(e} 210°.
(d) MNone of the above
What is the area enclosed between the curves
y* = 12x and the lines x=0 and y =6?
(a) 2 square units
(b) 4 square units
(¢) 6 square units
(d) B8 square units

BO.

B2,

83.

{22 - A}

81.

In a triangle ABC, BC = 33, AC = 5 and
AB = 7. What is the measure of the angle
A7

T
(a) E
b Al
(b) 3
T
'[C]: E
s
d (s
(d) 5
What is the modulus of — LT3 _
1~(1-1i)2
(a) 1
(b)- J5
(c) J3
{d) &

If the line through the points A (k, 1, —1) and
B(2k, 0, 2) is perpendicular to the line

through the points B and C (2 + 2k, k, 1), then"

what is the value of k ?

{(a) =1

b) 1

{c; =3

(d) 3

What is -[ dx equal to?
CJ 1+

(a) x=-lnx+e

by x—=In(tan x) +¢

e x-In(1l+eM+e

d} In(l+e*)+e

where c is a constant of integration.




76.

- T

78.

79.

- Q-OEBA-K-NBU

1 el @1 iR e, 6 W o | @ gar

o 5 ga woe o o Wedl 8 @ Tl W 12 79
Foram T o | W iR WA w8 ?

(a) 4
® 5
(¢ 218

(d) FoRffEs & o 58
1 2 ”
mﬁrﬁwg=l ]:[aE-I.HﬂTi,j-—:l,E
3 4 1

# | oft guaEr wgeen HER (bl &, W by, T
272

(a) -2
b) . 1 '
3
{c) 5
1
(d) - 2

B A dRR wgln ¥ ¥ ak o wdew

AT WY OFT R P

(a) 225°

(b) 240°

() 210°

(d) FoRffEm # 3 =% =&

ap yi=12x ik Y@l x=0 FWM y=6 B
o @ dFEa T # ?

(a) 2@ 5o
(b) 4 aif 3@
() 6w gwré
(d) 8af @R

B1.

83.

{23 - A}

I4{s‘1n2x+cnsx]=13ﬁ'~ﬂﬁl€ﬁ?ﬂﬁlﬂﬁm§2'

fsd st ABC BC = 439, AC =5 3R
AB=T2 | DTATT I @i & ?

{a)

(b),

Lald & H

(e}

ea | A

(d)

oA

1+2i

— & AS T e ?
1-(1-1)

(a) 1

B F

() J3

(d) 5

aix fargall A (k, 1, -1) 3R B (2k, 0,'2) ¥ TEel!

Y frgal B awn C (2 + 2k, k, 1) & @@ & W@

R g, Ak W A w2
(a} =1

b 1

(e} -3

(d) 3

Jo
1+e*

fa) x=-Inx+c

dx ®HETNE?

(b) x—-In{tanx)+¢

(&) x-In(1l+e¥)+c
) In(l+e")+c

FE ¢ U WSR2 |




86.

BY.

Q-0OEBA-K-NBU

The function flx) = x cosec x 1s 88
{a) continuous for all values of x
(b) discontinuous everywhere
{c) continuous for all x except at x = nm,
where n is an integer
(d) . continuous for all x except at x = nn/2,
where n is an integer
What is the solution of the differential
. dy dy
£ — = xy=— 7
equation a[xdx + 23’] o
¥
(a) x%= kye®
¥
{b) j’x2 = kye® 89.
- §
(€) ¥*x%= kye®
(d) None of the above
" where k is a constant.
i
A veclor _l::.: is collinear with the wvector
x = (2, 1, -1) and satisfies the condition |
z B m 3. What is T:: equal to 7
(a) (1, 1/2, -1/2)
(b) (2/3, 1/3, -1/3)
90.
(c) (1/2, 1/4, -1/4) :
{d} (1,1, 0)
What is the least positive integer n for which
!
[1+1] =19
1-1
fa) 16
(b) 12 2
(c) B8
{d) 4

[ 26— A )

A —

T A A - A
The vectors a2 =xi + yj; +zk, b = k.

¢ are such that they form a right-handed

- gystem. What is ¢ equal to ?

A

(a) ]
A A
(b} wvj -xk
A M
() yi — xj
A A
(d) xi — yj

dzy
If x=t% y=t% then whatis —5 equal
to? d=” °

{a) 1
® 2
(© EEE
@ 2

L

4
What is J. tan® x dx equal to ?

-1

4

(a) 3
1

B =

(b} 3
1

(c) E

(d): 0




85.

86.

87.

Q-OEBA-K-NBU

- (b)

W flx) = x cosec X

x & o 7 & fore Haa @

wd7 e @

xFAN TR S e dan g T x =&
fere =8, 7180 n v goifs 2
x&ﬂﬁﬁﬁi%@ﬁﬁﬂ?ﬁ?ﬁx:nnﬁﬂ
& foe 78, 7181 n v Uil &

(a)
{h)
(c)

{d)

mﬁﬁﬂaﬂaﬂwa(xi’i+zy)=xyd_ﬁ' & T
dx dx
T g ?

b4
a

(a) x° = kye

¥

(b) yx2 = kye?

2
&

(c) _'-,rzx2 = kye

(d) IoRfeiEa § & o =&
Siel k @8 R # |

2 aRe b Eﬁﬁrfﬁmﬁ =@, 1,-1) @ R
gy @ . b =3B EEgT AR E | b

& W F e ?
(a)
(b}
(c)
(d)

(, 1/2, -1/2)

(2/3, 1/3, -1/3)

(1/2, 1/4, -1/4)

(1, 1, 0)

[%] =1 & fov g ges s n a0
2?

(a) 16

12
(c) 8
(d) 4

88.

B9.

R E =x1 & +ik, B.= kK,
o Fem e dl ¢ mom e
(a) J
(b} yj -xk
A A
(el yi —xJ
A A
(d) xi - yj
afz x=t2, y=t3 @@ :; @ A a4 ?
{a) 1
3
b i
{b) o
3
fe) E
3
d_ =
(d) 7
il
3
j tan® xdx STHEF FIE ?
oy
(a) 3
1
Ry S
{b) 3
1
UZ} E
id) 0

{26 - A ) -




91. L o ) T
et 00, 0,0, P8, 4 8, Qm,n, 1 95. ' If the angle between the vectors a and K

and R(1, 1, 1) " be the vertices of a

parallelogram taken in order. What is the is g—, what is the aﬁg!e between —5a and
value of m+n+r ? L.
6b 7~
fa) 6
b) 12 (a) =
6
(c) 15
) 2m
(d) More than 15 (b) &
92. What is the snlutin_n of the differential (c) -21_—“
equation 3 e* tan y dx + (1 + &%) scczyd}r=[}? v
( } (1 + 'Ex ta [ )
a Ay (d) %

b) 1+ tany=¢

e) l+e*tany=c
[ 3 ".F 96. What is the degree of the differential equation

(d) (1 + e¥) sec? y=i 9 3
: , d% _ 1 + dy )" _ 02
where ¢ is a constant of integration. dx? dx )

93. What is the locus ol points, the difference of (a) 1

whose distances from two points being

constant ? ] by 2

(a) Pair of straight lines © 3

(b) An ellipse (d) 6

(e} A hyperbola
K3 xa

(d} A parabola 97. If I x*Inxdx = =—nx + = +¢, then
m - m

what are the values of m and n respectively ?
94. What is the differential equation for

yi=da(x-a)? (@ 1/3, -1/9
(@ yy -2xyy +y°=0 (b 3, -9

) iy +2%) +y2=0 (¢} 3, 9

(€ wy vy’ —2%) + y2 =0 (rd} 3 3

d) yy - 257 +y=0 where ¢ is a constant of integration.
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o oiifse & 0 (0, 0, 0), P(3, 4, 5), Q(m, n, r)

B ) B
FMRA, L & wox ogds & @
o & 1 m+n+ro 98 ?
{a) 6
(b) 12
(c} 15
(d) 15 % it
92. Hdd THEGLOT
3e¥tany dx + (1 + e sec ydy =0
| HEATGE ?
(a) (1+eftany=c
‘ b (1+etany=c
(¢ Q+etany=c
(d) (1+e9sec?y=c
el ¢ B THISEH-3TER & |
93. 1 fagall & il F W R A fagsil &
fEguawn g ?
(a) IRG I@-gH
(b) Enfga
(¢} FRrRaea
(d) UEed
94. y?=4da(x-a) & oW g glEor @ & ?
(@) yy—2xyy +y° =0
(b} yy’ (_‘."}"'.ﬁ 2x) + y2 =0
(€ ywiy -2x0+y2=0

(d) yy' —2xyy' +y=0

Q-0OEBA-K-NBU

95. ofz ®fwi a 3k Eaﬂhamaﬂw%?. ar
~52 3R6b BT AN FIE 2

(a)

oA

(h)
{c)

(d)

. dx?
U T e ?
(a) 1
(b) 2 "
e} 3
(d 6
o a

3 3

. x x
szinxdx=—£nx+—+c,

m n

m 3R n & A= oHw o E 7

(a) 1/3, -1/9
(b)
()
(d 3, 8

FEl ¢ UF IAESaa-3eT © |

{27 - A}




98. What is the principal value of cosec™ (= v2) ?
T
(a) E
L
(b) 5
kY
(F} - E
(dy 0
99. ff:R—=-R, g:R>R and gx) = x + 8
and (fog)(x) = (x + 3)%, then what is the value
of {—3} 7 '
(a) -9
(b) 0
{c) 9
(dy 3
L 2
100, What is the value of lim (x = D ?
Xx-»1 |:': - 1!
(a) 0
(b 1 \
(e) -1
(d}) The limit does not exist
101. A balloon is.pumped at the rate of 4 em® per
) second. What is the rate at which its surface
area increases when its radius is 4 cm 7
(a) 1 cmzfsec
(b) 2 cmzfsec
(¢) 3 cm?fsec
(d) 4 cm*/sec
Q-0EBA-K-NEU

102,

103,

104.

105,

{28 - A")

What is the value of M ?
1-tan 156°
(a) 1
1
by —
J2
1
(c) =
J3

(d 3

If fix)=kx? — 9x% +'9x +. 3 is monotonically
incréasing in every interval, then which one
of the following 1s correct ?

(a) k<3
(b) k<3
c) k>3
(d k=3

e LB e A :
If sin"! = + sin~! , then what is the.

X X

-
2
value of x ?

(a) 1
by 7
© 13
(dy 17

If o, p are the roots of the quadratic
équation 1;2 -x+ 1 =0, then which one
of the following is. correct ?

(a) (a* - p*) is real

(b) 2(c® + p% = (a p)°
(@) (@®-p% =0

(d) (o8 + p) = (a p)B




98.

09.

100.

101.

Q-0OEBA-K-NEU

cosee (- VE) &1 T WIF T ?

T
(a) Z

(b) 7

() =

|

(d) ,0

ofe
G
g?
(a) -9
(b) 0O
fcd 9
(dy 3

f:R>R g:R>R 3R gx)=x+3
(foghx) = (x + 3)2, @ f-3) & 97 &

(x-1)%
|x -1]

lim FAATNE ?

=1

(a) 0
by 1

(e} =1

(d) v @ HfE T8 2

eF @R 4 cm® W IS BN R Ferar s
2 | 7@ = B 4 em B A 590 U SEE
o Aaga g ?

(a) 1 cm?/sec

(b) 2 cm/sec
3 em?/sec

(c)

(d) 4 cm?/sec

102.

103.

104.

1035.

[ 28 = A}

1+ tan 15°

1—tan 15° ﬁmm? P
(a) 1
1
B -k
(b) =
1
{ —
c) o3
(d 3

ﬂﬁﬂx}=h3u9x2+9x+3m'mi‘f
rhlex v &, o Refafes § 3 o o o 58
272

(a) k<3

(b)) k=3
(c) 11::*3-.

fdy k=3

=1 b

112
ofz —+5m]—=%,?hxﬁqﬁﬁ1

22

sin

{a) 1
b 7
¢y 13

(d) 17

it o afetr x2-x+1=0 ﬁi‘ﬂmﬂu.ﬂﬁ.
AP diddm o aar g ?

(a) (e —ph) arafes &

(b 2(a® + p%) = (@p)P®
ey (-pH=0
(d) (af +p% = (ap)?®

i




106. What is the value of /3 cosec 20° — sec 20° ?

{a) 1/4
(b) 4
() 2
(d} 1
107. The probability diﬁtﬁbutinn of random

variable X with two missing probabilities P
and p, is given below :

X P(X)
1 k
2 B,
3 4k
4 Ps
5 2k

It is further given that P(X < 2) = 0025 and
P(X = 4) = 0-35.

Consider the following statements :

1, ]]] =.!}2
2. py+py,=PX=23)

Which of the statements given above is/are

correct ?

(a) 1only

(b} 2 only

(¢) Both 1 and 2
{d) Neither 1 nor 2

Q-0OEBA-K-NBU

108. If angles A, B, C are in AP, then w];at 18
sin A + 2 sin B + sin C equal to ?

{a) 4sinB cos® (%]

(b) ~ 4 sin B cos? [#]

(c) 4 sin (2B) cos? [%)

(d) 4 sin (2B) cos® [%}

109. Statementl: If -1<x<0, then

cos(sin1%) = — y1= %5

Statement II: If -1=x<0, then

1—x2.

sin {ms'l )=

Which one of the following is correct in respect
of the above statements ?

Both statements 1 and II are
independently correct and statement 1I
is the correct  explanation of
statement 1

(a)

Both statements 1 and II are
independently correct but statement II
is not the correct explanation of
statement I -

(b)

Statement I is correct but statement II
15 false

(c)

Statement I is false but stalatement IT is
correct

(d)

{30 - A




*J3 cosec20° —sec20° A TR ? )

106. 108.
(a) 1/4
(b) 4
() 2
d 1
107. & agfivs w X @ wRwar Fem, Gl @
21 wiftwant p, 3R p, sFufeE € @ T
=4
X P(X)
1 k
Ty - 5
4 Ps
5 . 2k

e iR e N o e B PX<2)=025
@ P(X z 4) = 0-35.

R sue w frar &fe
1. po=py ‘

2, p+py=PX=3)

RfeRas @1 F 3§ o |8 w8 8E ?
had 1

ae 2

() 13K 2&mt

FdmisRaE2

(a)

(b)

(d)

Q-0EBA-K-NBU {31 - A )

-

o PO A, B, C GR=R A0 H E, A
sinA+2sinB+sinC SIAATE ?

(a) 4sinB cos® [L;:-]

(b} 4 sin B cos® [#]

(¢) 4 sin (2B) cos® {_A_%_C_]

(d) 4 sin (2B) cos® [_A;G)

Tl aft -1sx<0, @
cos {'sin‘l X)) = - ~|,||1—x2 -
gl dE -1<x<0, @

sin (cos™! x) =

Frefefas & @1 o @1 v, FRTRET avF &

g dad g ?

(a) 2l was [ 3R 11 w@aas we 8 3R
T 11, T [ & Fel e g

(b), e Fem 1 3k I wamw W # g

w11, dud 1 & 98 re T8 8
() =v 1w8 2 g oue 11 39T @

(d) w13 & g oem 198§




110, Statement]: y = —tanl(x}) +1 is an 112, L.et a, b, ¢ be in AP '
increasing function of x. Consider the following statements :

dy . g
Statement II ; = is positive for all values of x. x W

dx 1

—, —, — arein AP.
: - < ab ca be
Which one of the following is correct in

respect of the above statements 7 - 1 1

' 1
AT Tl Tl

arein AP,

{a) Both statements 1 and II  are

independently correct and statement II

is the pmL explanation of Which of the statements given ahavle isfare

correct 7
statement [ -
{a} 1 only
(b) Both statements 1 and II are
independently correct but statement II (b) 2 only
is not the correet explanation of .
statement 1

(e} Both1and 2

{¢) Statement I is correct but statement II

i (d) Neither 1 nor 2 X

(d) Statement I is false but statement II is
=  correct 113. What is the differentiation of log, x with
respect to In x ?

111. Consider the following statements in (a) 0O
respect of circles X% 4 3,.r2 - 2x -2y =0
and x2 + y2 = 1: . (b 1
1. The radius of the first circle is twice that {e) 1/fx

of the second circle.

v @ x
2.  Both the circles pass through the origin.

Which of the statements given above is/are |114. What is tan [?i ] equal to ?
A 2 ;

correct 7

(a) 1 only | @ V6 + V3 -2 +2
(b) 2 only ®) - V6 + V3 +42 +2
(¢) Both 1 and 2 © J6_J3 +43 -2

{(d) MNeither 1 nor 2

@ J6 4+ V3 + 2 -2
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110, @1 :

111,

Q-OEBA-K-NBU

y=—tan L (x7}) + 1, x @ 0@ ad9
Hel & |

@Al : xiﬁmﬁﬂﬁiﬂi_ﬁv % EFTEES 2 |

Prafifas & 4 a9 @ ve, soRfoRes ou &

g dad a2

(a) 2Ffaem 1 3R 11 <odFo 98 @ o

e 11, ®uF 1 & G e 8

b 2w 1 R 1 EdEEe w6 & g |

w11, oo 16 98 @ren T8 &
(c) ml%ﬁ?%mumﬁ?

(d) w1 awwa @ g o9 11 ud 2

qﬁ'{ x2+y2-2x-2y=0 Gﬂ{ x2+y2=1&
fw # Frafefas Swi ® R i

1. gmqaa%ﬁm@iqﬂaﬁﬁma?rgﬁr
|

2. FdigE g APEAT |

Soffefam o 4 & @ WA @ Y

(a) &ae 1

(b) &ad 2

(c) 13k 2 @i
(d) IM1aRTID2

{33 -A)

112, 7 oifse & a, b, c EureR S0 # & |
,ﬁmﬁ!ﬁaaasﬁmﬁma?ﬁm

1 1 1 ;
1. E’E'EWMﬁgI

1 1 1
Jb+de' Jesva' Jasdb

AR Ao A E |

2.

SRfofRem w2 a7
(a) &ae 1

(b) &ae 2

(¢) 1322

d I@i1aikRad2

. Inx &N log, x & HaGeH T & ?

(a) 0O
(b 1
(c) .l.fx
() x

1

. tan.[TE) 1 AH &1 & ?

(@ J6 +J3 -J2 +2
b J6 +J3 + 42 +2
{c) -..u'r__—-drﬁ-j--.n'ri—ﬂ

d J6 +V3 + /2 —2




? 118. What is the angle between the diagonal of
one of the faces of the cube and the
diagonal of the cube intersecting the

cos 15° + cos 45°
.cos” 15° + cos® 45°

1158. What is the value of

(a) % -diagonal of the face of the cube ?
: (a) cos”! (1/4/3)
{b) 5
(b) cos™t (2/43)
: , | .
© 3 () cost(v2/3)
{(d) None of the above (d) cos! (V2 /3)

Directions : For the next 3 (three) questions to 3 =
follow 119. Let a and b be two unit vectors and o be

The vertices of a cube are (0, 0, 0), (2, 0,
(0,2, 0),(0,0,2), (2 2 0, (2 02,0, 2
(2, 2, 2) respectively.

0), the angle between them. If (@ + b ) is also
9) the unit vector, then what is the value of a ?

@ =
116. ' What is the angle between any two diagonals
of the cube ?
2 ® 7
' (a) cos~t (1/2)
(b) cos™* (1/3) - (e | 2?“
(c) cos™ (1/J3)
n
d =
{d) 3

(d) cos!(2/43)

117. What is the angle between one of the edges of | 120+ What is the value of
the cube and the diagonal of the cube _ (01 01}2”2 + (00102

2 . 2
risg . 3 7
intersecting the edge of the cube * 01 m}{;mﬂ B m-lﬂ]};nn? © m”{an y 001102

{a) cos”’ (1/2)
{a) {U'{}l}l}z

(b) cos™ (1/3)

(b) (0-01),
-1
(¢) cos (1/43). (e) (01
i
(d) cos™ (2/V3) (@ (1)
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115.

(o)

. cos 15° + cos 45°

AR TR ?

cos® 15° + cos® 45°

@ =+

(b)

b | =

L | =

(d) FoRfeREa & ¥ o =8

g : 3w 3 (dA) vt & e

116.

117.

Q-0EBA-K-NBU

' (b)

it a9 & 9 @meE (0, 0, 0), (2,0, 0), (0, 2, 0),
(0,0,2),(2,20),(2,0,2),(0,22),(2,2 2)% |

mrfFddfenisduemamamd ?
(a) cos™! (1/2)
(b) cos™ (1/3)
(¢) ecos™t(1/43)

(d) cos™' (2/V3) -

o7 & 0 yor 3l o9 &) Yo B e I wE B

et S dm @ ForFm @ ?
(a) eos™ (1/2)
cos™t (1/3)
(e) cos™' (1/43)

(d) cos™t (2/43)

118.

119.

120.

(35 - A)

U4 & 0F TE & ool qur o9 & ued & ol
DFA TS et s s g ?

(@) cos™ (1/43)
cus"l_ (2/43)

cos™ (V2/3)

cos ! { \E}'B}

(b}
(c)

(d)

T e 5 3 R b 2 uEs wRe R«
FE AU AT E | R (3 + b) W IS
W g, MeTamae?

it
(a) E -

(b)

wa| A

(c)

(d)

010152 + o1niM2

- (03017 2 (0011);

o,

(10},
o 2

U2 + o1

(0-101) o

FOAFE ?

(a) (0-001),

(b) (0-01),
[l‘.j {0'1}2

@ (1),
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SPACE FOR ROUGH WORK
T oW & e ST
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SPACE FOR ROUGH WORK
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R

7 7w o) aF Gl gamr @ @ 7 o I 9 aw 7 G
A.&.H. : Q-OEBA-K-NBU wewr gRe® sged

GR1810T gReah
TTfore

Wﬁﬂ@sﬁ??ﬂﬂﬁﬁ

;ﬂ?‘fﬁ : 300

1. ohan v @ & g @, a9 3 e R & ggaie sava @ o 5 g B8 B e, s
1 W21 B g5 Aal e A A @ | afk v d, @ 59 o wleor gRaer | @ew ik |

2. IOR-uEs # R v W et gRamn 3 A, B, C a1 D guiRufy s w9 3 geag S |

3. 3% W gRaer 1) ' 7 Be e Sres 3§ sl A0 ' _ :
FeHi® forar € | e gRae W sk go 7 ford |

4. 39 e oRae ¥ 120 seie (ve) Re e # | v wee R siik st F s @ | wedw e A
TR FeeR (30 Re e € | 3 Q0P T @ g o BRY 3 IR-we W sifed S ded € | Al
A v @ T Uw A st SR T 2 A 39 WegeR 3 3ifea X S e wdihn o | A
werer & fore dact e & WER g R | i :

5. v o e egeR s X fe e IR-wEs | @ sifea e # | swewas A Re e e e |
. w5 3 WA € | : :

7. TE a5 3 ofewr gRawr & Rfte werel & TRIER SR-0e W e SR IF &R, IR e
" e & e M sl & 3R o6 e sREs A T E |

8. 3 am wh rged B IR-wE § W ¥ A aur v & TEE R 907 JR-95 e @ i
¥ | o 3w odeor g o ST Bt st R

9. ®w oW s U e o gRkas $ 3 3 e § |

" 10. T 3OR1 & P a@vs |
axgPies we-wEt # Iefeer gt Re e e el & fore avs fan smem |

() TRE v ¥ v R defue TR # | 3ofeER ER1 s ne B fore R e s e 3w & fre
e &g Fraa foe e st @ ve-foerd (0-33) 298 & w9 A HreT ST |

(i) R B WER vs A S IR & &, A 3 e IR W e, gafv fer e Il O ¥ e
IR w8 g 2, B 0 39 wem & fore sudmraeR & o9 wRe & 2w e smem | '

Gii) afz 3fear R B wed g e few st &, srafq IieeR aRT IR AR fean s €, & 39 e
& fore oY 2oz =& e wmem |

59 d® a® a7 Gew gRawt @ad @ T der e ad a® 7 Gl

Note : English version of the instructions is printed on the front cover of this Booklet.




